AER SCY—%)

BRER ECY—%

AER SCY—2)

AER SCY—1]

21605 3.0m 21605 3.5m 21605 40m 21605 45m
¥27,000 ¥30,500 ¥32,500 ¥34,500
T INSEAEE e INSEIE e INSEATIE g INSEATE
#1 ¥11,000 #1 ¥9,900 #1 ¥11,000 #1 ¥11,400
#2 ¥6,800 #2 ¥5,800 #2 ¥6,400 #2 ¥7,000
#3 ¥14,600 #3 ¥6,200 #3 ¥6,800 #3 ¥7,200
b7 AN ¥1,250 #4 ¥14,800 #4 ¥15,000 #4 ¥15,900
-1 h'qF ¥800 b7 B ¥1,250 b7 B ¥1,250 b7 B ¥1,250
1-2 h'qF ¥800 1-1 h'qE ¥800 -1 h'4E ¥800 1-1 h'qE ¥800
1-3 h'q+ ¥800 1-2 h'4F ¥800 1-2 4N ¥800 1-2 h'4F ¥800
1-4 h'4F ¥800 1-3 h'qH ¥800 1-3 H'4F ¥800 1-3 h'qM ¥800
2-1 4 ¥550 2-1 W4 ¥450 1-4 H'4F ¥800 1-4 B4V ¥800
2-2 W4N ¥550 2-2 WAV ¥550 2-1 4~ ¥550 2-1 4+ ¥550
2-3 W4 ¥550 3-1 04K ¥550 2-2 4K ¥550 2-2 4K ¥550
-1 04K ¥550 3-2 W4 ¥550 2-3 H4K ¥550 2-3 h°4F ¥550
HAN $497° ¥700 -1 nqr ¥650 31 4y ¥550 3-1 14N ¥550
=y—t ¥1,750 HAN F497° ¥750 32 n'4N ¥550 32 14N ¥600
1INy WA 1% ¥4,450 )=k ¥1,750 41 4 ¥650 41 4 ¥650
28y DN 19v% ¥1,650 INY BN 1% ¥3,650 N4V Fvv7 ¥750 hAN £497° ¥750
LaZ bl ¥4,000 2N HAN 49vE ¥1,000 J=Iy—t ¥1,750 =1y ¥1,750
#4770 ¥950 INY BN A9V% ¥1,100 INY AN 1ok ¥4,450 INY AN 19% ¥4,450
===l ¥100 yagna ¥3,900 2Ny WA fvvk ¥1,650 2Ny WAN 4yv% ¥1,650
Wty 9FT A ¥120 #1790 ¥950 3INY BN 1yv% ¥1,100 3INY DN AvvE ¥1,150
o)y’ ¥180 =y=bs=Ib ¥100 yagna ¥4,000 yagna ¥4,100
VR VEENES ¥1,200 WY 9FT I ¥120 #47°9m ¥950 #17°9R ¥950
Yy 19v% ¥1,700 VA ¥180 Y=Iy—k=l ¥100 J=Iy=b= ¥100
9T ¥500 SV WNES ¥1,200 YEY 9FT A ¥120 YEY 9FT A ¥120
ey 19v% ¥1,700 olvy’ ¥180 oy’ ¥180
VESS ¥500 YEVTAYE ¥1,200 YEVTAYE ¥1,200
eV 199 ¥1,700 e 199% ¥1,700
vEF ¥500 5T ¥500




